98/11/24

MATLAB MEX

MATLAB

1.
2.Rug-Warrior
3.

Overview of Autonomous Vehicle control diagram for MATLAB
Speed/Steering Angle

3 Vehism p
| Controller

Vehiclessimmodel

—> TactileSensor

\ 4

stateinfo
Tactile Sensor Fuzzy

ad128pm

>| Controller
Vehiclewalkmodel

> SupersonicWave distance,stateinfo
> rug D

Neural
Supersonic Wave

A\ 4

Mux| | > Controller Vehiclerugwarrior

S >
u ColorFilter |— fu Hough PID
e

Image Sensor [P
Muxl ColorFilterl Mux2 HoughTransform

>| Controller

) > -
>| ColorFilter up| GetLinePos H_inf
id

Image Sensorl

ColorFilter2 Mux3 Line&Obstacle

Mux

X,y,theta rawad

current_v,current_steering
Demux <

Demux1

Figure 1 Schematic diagrams for Autonomous unmanned vehicle control for MATLAB
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while(1)
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(tictoc.m)

MATLAB
100 1

Windows

tic,toc tic

toc

0.1 100

thistory(1,ii)=pretime;

% Timer sample program by Gerox(c)
1998
% Please wait 10 sec
sampling=0.1;%][sec]
%count start!
thistory=zeros(1,100);tic;
newtoc = toc;
pretime = newtoc;
for ii=1:100

while(newtoc < pretime)

newtoc = toc;

end

pretime = newtoc+sampling;

thistory(1,ii)=pretime;
end
plot((1:99)*sampling,diff(thistory))




( vcapg.dil)

vcapg,AD
ad128pm( AD/DA DA
AD )
232C

(sensing.m)

function
[infol,info2,info3]=sensing(linel,line2,line3,sensfunc);
a=feval(sensfunc);

infol=a(:,linel,);

info2=a(:,line2,:);

info3=a(:,line3,:);

hough
hough
[infol,info2,info3]=sensing(10,10,30,'vcapg");
PID
Hoo
feval
eval
eval MATLAB feval
eval
feval
feval

[outl,out2]=sensfunc(inl,in2);

[outl,out2]=feval('sensfunc',inl,in2);



(vehisim.m)

X,y theta
XY ,theta
current _steering = transfer _ function(steering);
current _v = transfer __ function(speed); clear all
theta(k +1) = current _ steering - sampling + theta(k) anssinpf”(l)
X(k +1) = cos(theta(k)) - current _v- sampling + x(k) 0.0100
y(k +1) = sin(theta(k)) - current _v-sampling + y(K) smpfil(1)
ans =
0.0198
persistent

function y=smpfil(u)

persistent preu

persistent persistent prey

if(isempty(preu)) preu=u;end

if(isempty(prey)) prey=0;end

MATLAB  persistent | [num den]=c2dm([1],[1 1],0.01);

y = (-prey*den(2)+u*num(1)+preu*num(2))/den(l);

c preu = u;
prey =Yy
persistent clear
MALTAB

if 0

end



pvtest.m
vehisim.m
sensiml.m: vcapg

sensim2.m

sensim3.m

makemapsim.m
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[map,x,y,theta]=makemapsim(1);



>> [map,X,y,theta]=makemapsim(1);
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pvtest.m

%9%%%%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% % % %% %% %% %% %
% Reference Sample Program for Autonomous Unmanned Vehicle
% SET INITIAL PARAMETERS
% Gerox (c) 1998 10 23
close all;% close all figures
clear functions;
sampling=0.1;%[sec]
raw_ad=[00000000];
x=0;y=0;theta=0;current_v=0;current_steering=0;v=0;steering=0;
%%%%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% % % %% %% %% %%
% CREATE MAPINFO
[map,x,y,theta]=makemapsim(x,y,theta); % If you want to make new map
% Please use [map,x,y,theta]=makemapsim(1);

close all
if 1
% CHECK MAP

theta=atan2(map(2,2)-map(1,2),map(2,1)-map(1,1));

newvect=[sin(pi/2-theta) -cos(pi/2-theta);cos(pi/2-theta) sin(pi/2-theta)]*[0 10;0 O];

figure(1);subplot(2,2,1);

aa=plot(map(:,1),map(:,2),map(:,3),map(:,4),...

newvect(1,:)+[x x],newvect(2,:)+[y y], linewidth',5);
set(aa(3),'linewidth’,1);set(gca,'drawmode’, fast’);set(aa,'erasemode’,'xor");
R=[sin(theta) -cos(theta);cos(theta) sin(theta)];

rmrr = (R*([map(:,1)-x map(:,2)-y])); 1
Imll = (R*([map(:,3)-x map(:,4)-y]));
subplot(2,2,2);bb=plot(rmrr(1,:),rmrr(2,:),Imll(1,:),Imll(2,3));
axis([-10 10 0 20));
set(gca,'drawmode’,'fast’);set(aa,'erasemode’,'xor’);

for i=2:length(map)

theta=atan2(map(i,2)-map(i-1,2),map(i,1)-map(i-1,1));
newvect=[sin(pi/2-theta) -cos(pi/2-theta);cos(pi/2-theta) sin(pi/2-theta)]*[0 10;0 0];
x=(map(i,1)-map(i,3))/2+map(i,3);y=(map(i,2)-map(i,4))/2+map(i,4);
set(aa(3),'xdata’,newvect(1,:)+[x x],'ydata’,newvect(2,:)+[y yl);
R=[sin(theta) -cos(theta);cos(theta) sin(theta)];
rmrr = (R*([map(:,1)-x map(:,2)-y])");
Imll = (R*([map(:,3)-x map(:,4)-y]));
set(bb(1),'xdata’,rmrr(1,:),'ydata’,rmrr(2,:));
set(bb(2),'xdata’,Imll(1,:),'ydata’,Imll(2,:));
drawnow;
end

end

if 1

%%%%set Global variable%%6%%%%%%%%% %% %% %%%%%% %% %% %%%%% %% % %% %% %% %% %



theta=atan2((map(1+1,2)-map(1,2)),(map(1+1,1)-map(1,1)));
x=(map(1,1)-map(1,3))/2+map(1,3);
y=(map(1,2)-map(1,4))/2+map(1,4);
steering=theta;
%%%% %% % %% % %% % %% % %% % %% % %% %% %% %% % % %% %% %% %% %% %% %Y
tic;
newtoc = toc;pretime = newtoc + sampling;
close all
newvect=[sin(pi/2-theta) -cos(pi/2-theta);cos(pi/2-theta) sin(pi/2-theta)]*[0 10;0 0];
aa=plot(map(:;,1),map(:,2),map(:,3),map(:,4),...
newvect(1,:)+[x x],newvect(2,:)+[y y], linewidth',5);
set(aa(3),'linewidth',1);set(gca,'drawmode’, fast');set(aa,'erasemode’,'xor');
while(1)
while(newtoc < pretime+sampling);newtoc = toc;end
pretime = newtoc;
[v,steering]=sensim1(0.7,70,'vcapg'); % autodrive with vcapg
% [v,steering]=sensim2(map,x,y,theta,sampling);% view map mode use no dynamics vehisim
% [v,steering]=sensim3(map,x,y,theta); % autodrive mode;
[x,y,theta,current_v,current_steering]=vehisim(v,steering,x,y,theta,sampling);

%9%%%%%%%%%%%%%This is for plot%%%%%% %% %%%%%% %% %% %%%%% %% %%
newvect = [sin(pi/2-theta) -cos(pi/2-theta);cos(pi/2-theta) sin(pi/2-theta)]*[0 10;0 0];
set(aa(3),'xdata’,newvect(1,:)+[x x],'ydata’,newvect(2,:)+[y y]);
drawnow;

%9%%%%%%% %% %% %% %% %% %% %% %% %% %% % %% %% %%
end

end

vehisim m

function [x,y,theta,current_v,current_steering]=vehisim(v,steering,x,y,theta,sampling)

persistent Avd Bvd Cvd Dvd;

persistent Asd Bsd Csd Dsd;

persistent vx sx;

if isempty(vx)

% Calculate discrete transfer function parameters
[Av,Bv,Cv,Dv] = tf2ss(1,[1 1]);[a,b]=size(Av);
vx=zeros(a,l);
[Avd,Bvd,Cvd,Dvd]=c2dm(Av,Bv,Cv,Dv,sampling,'tustin’);
[As,Bs,Cs,Ds] = tf2ss(1,[1 1]);[a,b]=size(As);
[Asd,Bsd,Csd,Dsd]=c2dm(As,Bs,Cs,Ds,sampling,tustin’);
sx=zeros(a,1);

current_v =0;

current_steering = 0;

end

VX =Avd * vx + Bvd * v;

current_v= Cvd * vx + Dvd * v;

SX = Asd * sx + Bsd * steering;

current_steering= Csd * sx + Dsd * steering;

% if 1 then sensim2

if 0

current_v =v;

current_steering = steering;

end

theta = theta + current_steering * sampling;

X = X + current_v * cos(theta) * sampling;

y =y + current_v * sin(theta) * sampling;
sensiml.m

function [v,steering]=sensim1(threshold,lineno,viewfunc)

a=feval(viewfunc,1);

b=(double(a(:,lineno,1))+double(a(;,lineno,2))+double(a(:,lineno,3)))/3;

figure(2)

plot(b);

steering=-mean(find(b>threshold)-length(b)/2);

v=3;

sensim2.m
function [v,steering]=sensim2(map,x,y,theta,sampling)

persistent count;
persistent px py ppx ppy ptheta pptheta;
if isempty(count)

count =1,



pptheta=atan2((map(count+1,2)-map(count,2)),(map(count+1,1)-map(count,1)));
ppx=(map(count,1)-map(count,3))/2+map(count,3);
ppy=(map(count,2)-map(count,4))/2+map(count,4);
X=ppX;
y=ppy;
theta=pptheta;
end
count = count + 1,
ptheta=atan2(map(count,2)-map(count-1,2),map(count,1)-map(count-1,1));
px=(map(count,1)-map(count,3))/2+map(count,3);
py=(map(count,2)-map(count,4))/2+map(count,4);
steering=(ptheta-pptheta)/sampling;
v=sqrt((px-ppx)"2+(py-ppy)"2)/sampling;
pptheta=ptheta;
PPX=pX;
ppy=py;
R=[sin(theta) -cos(theta);cos(theta) sin(theta)];
rmrr = (R*([map(:,1)-x map(:,2)-y]));
Imll = (R*([map(:,3)-x map(:,4)-y])");
figure(2)
plot(rmrr(1,:),rmrr(2,:),Imli(1,:),Imll(2,:));
axis([-10 10 0 20])

sensim3.m
function [v,steering]=sensim3(map,x,y,theta)
persistent hdl;
viewrange=15;
lookahead=9;
eyeheight = 2;
R=[sin(theta) -cos(theta);cos(theta) sin(theta)];
rmrr = (R*([map(:,1)-x map(:,2)-y]));
Imll = (R*([map(:,3)-x map(:,4)-y]));
% x1 =rmrr(;,1)./(rmrr(:,2));
% x2 =Imll(:,1)./(Imll(:,2));
% vyl = -eyeheight./(rmrr(:,2));
% y2 = -eyeheight./(Imll(:,2));
if isempty(hdl)
figure(2)
hdl=plot(rmrr(1,:),rmrr(2,:),Imli(1,:),Imll(2,:), linewidth’,5);
axis([-viewrange viewrange 0 lookahead+10]);
set(gca,'drawmode’,'fast’);set(hdl,'erasemode’,'xor");
% view([0,10]);
else
set(hdl(1),'xdata’,rmrr(1,:),'ydata’,rmrr(2,:));
set(hdl(2),'xdata’,Imll(1,:),'ydata’,Imll(2,:));
% set(gca,'pos',[0 0 1 0.7],'color',[0 0.25 0],...
% ‘xtick',[],'ytick’,[],'box",'off")
% set(gcf,'color',[0 0 .5]);
end
%9%%%%%%% %% %% %search x axis limit %%%%%%%%%
tmp=find(rmrr(1,:)<viewrange);
rtmp=rmrr(:,tmp);
tmp=find(rtmp(1,:)> -viewrange);
rtmp=rtmp(;,tmp);
%%%%%%%%%%%%%search y axis limit%%%%%%%%%
tmp=find(rtmp(2,:)< viewrange);
rtmp=rtmp(:,tmp);
tmp=find(rtmp(2,:)> 0);
redge =rtmp(:,tmp)’;
%9%%%%%%% %% %% %search x axis limit%%%%%%%%%
tmp=find(Imli(1,:)<viewrange);
Itmp=ImlI(:,tmp);
tmp=find(Itmp(1,:)> -viewrange);
Itmp=Itmp(:,tmp);
%9%%%%%%% %% %% %search y axis limit%%%%%%%%%
tmp=find(Itmp(2,:)< viewrange);
Itmp=Itmp(:,tmp);
tmp=find(Itmp(2,:)> 0);
ledge =Itmp(;,tmp);
[m n]=size(ledge);
medge=[];

%%%%%%%%%%serch cross section between edge adn lookahead%%%%%%%%%%%%

x,y,theta




forii=2:m
if ((ledge(ii-1,2) > lookahead) & (ledge(ii,2) <= lookahead)) medge=[medge; ledge(ii-1,:) ;ledge(ii,:)];end
if (ledge(ii-1,2) <= lookahead) & (ledge(ii,2) > lookahead)) medge=[medge; ledge(ii-1,:);ledge(ii,:)];end
end
[m n]=size(redge);
forii=2:m
if ((redge(ii-1,2) > lookahead) & (redge(ii,2) <= lookahead)) medge=[medge; redge(ii-1,:) ;redge(ii,:)];end
if ((redge(ii-1,2) <= lookahead) & (redge(ii,2) > lookahead)) medge=[medge; redge(ii-1,:);redge(ii,:)];end
end
mmedge=[];
[m n]=size(medge);
forii=1:2:m
mmedge = [mmedge spline([medge(ii,2) medge(ii+1,2)],[medge(ii,1) medge(ii+1,1)],lookahead)];
end
lininfo=zeros(1,320);
linmmedge = round(mmedge./viewrange*160+160);
linmmedge = linmmedge.*(linmmedge>0).*(linmmedge<321);
lininfo(1,linmmedge)=1;
v =3
hoge=find(lininfo>0.5);
if isempty(hoge),steering = 0;
else
steering=-mean(find(lininfo>0.5)-160)/160*pi/2;
end
if isnan(steering), steering=0;end

makemapsim.m
function [map,X,y,theta]J=makemapsim(x,y,theta,options)
close all;figure(1);plot([0 0 100 100],[0 100 100 0));

if nargin==1

disp(’ )

[mx,my]=ginput
else

mx =[ 12.2120 149770 255760 44.0092 62.4424 72.8111 72.1198 62.2120
22.5806];

my =[ 15.7895 35.6725 63.1579 78.0702 75.1462 52.3392 31.2865 25.4386
15.4971];
end

mr=[];ml=[];haba=5;

ka=(my(2)-my(1))¥(mx(2)-mx(1));

kb=my(1)+ka*mx(1);

sita = atan(1/ka)+pi/2;

sita2 = atan(1/ka)-pi/2;

for i=1:length(mx)-1
ka=(my(i+1)-my(i))¥(mx(i+1)-mx(i));
kb=my(i)+ka*mx(i);
sita = atan2(my(i+1)-my(i),mx(i+1)-mx(i))+pi/2;
mr=[mr ;[mx(i)+haba*cos(sita) my(i)+haba*sin(sita)]];
sita2 = atan2(my(i+1)-my(i),mx(i+21)-mx(i))-pi/2;
ml=[ml ;[mx(i)+haba*cos(sita2) my(i)+haba*sin(sita2)]];

end

mrr=[spline(1:length(mr(:,1)),mr(:,1),1:0.1:length(mr(:,1)));spline(1:length(mr(:,2)),mr(:,2),1:0.1:length(mr(:,2)))]’;

mll=[spline(1:length(ml(:,1)),ml(:,1),1:0.1:length(ml(:,1)));spline(1:length(ml(:,2)),mi(:,2),1:0.1:length(ml(:,2)))]’;
close all;

plot(mrr(:,1),mrr(:,2),'g',mll(:,1),mll(:,2),'r','linewidth’,3);

axis([0 100 0 100));

% for global initial condition

x=(mli(1,1)+mrr(1,1))/2;

y=(mll(1,2)+mrr(1,2))/2;

theta=atan2((my(2)-my(1)),(my(2)-my(1)));

map=[mll mrr];

makemapsim.m

38.2488

14.9123

11



(gltest.m,glfunc.m)

% global variable sample program by Gerox(c) 1998
clear functions; % pretty important!

global sampling raw_ad;

global x y theta current_v current_steering
sampling = 0.01;
x=0;y=0;theta=0;current_v=1;current_steering=1;
% initial condition

MATLAB Version | [y y theta current_v current_steering]

5.2 C glfunc; % 1 step after
tati [x y theta current_v current_steering]
static glfunc; % next step
persistent [x y theta current_v current_steering]
M MATLAB
M

M
global x,y
global x vy

function glfunc

global x y theta current_v current_steering sampling;
theta = theta+current_steering*sampling;
x=x+cos(theta);

y=y+sin(theta);

MATLAB C



fmin,fmins,fzero,ode23,0de45,quad,quad8
ode45 ode45
ode45

[T,Y,TE,YE,IE] = ODE45(F', TSPAN,Y0,0PTIONS)

dx
—=f(t,X
pm (t,%)

ODE45 f 'F'

2 M

0

0

2
mL dtf =—-mgsinéd
W
d|é@ @
E{w}=[%gn0} 0(0) =6,,0(0) = o,
MATLAB pend.m
dx/dt M
0=9.8m/s"2,L=1m

ode45

clear functions;ode45('pend',[0 10],[0;45*pi/180])

g sind

mg

function dxdt = pend(t,x)
0=9.8;L=1;
theta=x(1);0mega=x(2);

dxdt = [omega;-g/L*sin(theta)];
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ode45

M

global

0.6

0.4

0.2

-0.2

-0.4

-0.6

-0.8

10

2m

function dxdt = pend2(t,x)
global L;

0=9.8;

theta=x(1);0mega=x(2);

dxdt = [omega;-g/L*sin(theta)];

M global

clear all;global L;for L=1:0.1:2;figure;ode45('pend2',[0 10],[0;45*pi/180]);end

10cm 2m ode45

for L
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for

MATLAB
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0
20
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1:5;

ab(i, i)

end

zeros(20,10);

ab
fori

=1;

figure(1);mesh(ab);

.ab(5,5)

ab(1,1),ab(2,2),..

for

zeros(20,10);

1:5;

ab=
ab(i,i)

=1;

figure(2);mesh(ab);
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